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BACHELOR'S DEGREE PROGRAMME 
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ELECTIVE COURSE : ECONOMICS 
EEC-13 : ELEMENTARY STATISTICAL 

METHODS AND SURVEY TECHNIQUES 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : Attempt two questions from section-A. Four from 

section-B and two from section-C. 

SECTION - A 

1. Mention the different ways in which statistical 20 

data can be classified. In this connection, discuss 

the methods for collecting primary data. 

2. Define Fisher's Ideal Index Number. Why is it 20 

called an 'ideal' index number ? 

3. Explain Bayes's Theorem. How is it related to the 

multiplication rule of probability ? 	 10+10 

4. (a) What are the characteristics of a good 

measure of central tendency ? 	 5+15 
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(b) Calculate Arithmetic mean and median 

from the following frequency distribution. 

Also obtain the value of mode from the 

values of arithmetic mean and median 

without calculating it separately. 

Height 	No. of women 

60 - 63 	 8 

63 - 66 	 28 

66 - 69 	 118 

69 - 72 	 66 

72 - 75 	 16 

75 - 78 	 4 
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SECTION - B 

Distinguish between the concept of a parameter 

and that of a statistic. In this connection, explain 

the meaning of sampling error. 

6. Discuss the desirable properties of an estimator. 

7. Elucidate the process of constructing a life table. 	12 

What are its uses ? 

8. State and prove multiplicative theorem of 12 

probability. Briefly explain how the result of the 

theorem gets modified when the events are 

independent. 

9. (a) Define null hypothesis. Under what 5+7 

circumstances will you employ the t test for 

testing some hypothesis about population 

mean ? 

(b) What do you mean by confidence interval ? 

How will you determine the 95 percent 

confidence interval for a normal population 

mean ? 

12 

12 
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10. As a result of tests on 10,000 electric bulbs 	12 
manufactured by a company ; it was found that 
the life time of bulbs was normally distributed with 
an average life of 2040 hours and standard 
deviation of 60 hours. On the basis of the above 
information, find out the number of bulbs that 
are expected to burn for (a) more than 2150 hours 
and (b) less than 1960 hours. You are given the 
following information : 

Proportion of Area under normal curve 

Z 	1.23 1.33 1.43 1.63 1.83 

Area 0.3907 0.4082 0.4236 0.4484 0.4667 
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SECTION - C 
11. A university has to select an examiner from a list 	6 

of 50 persons. 15 of these persons are women 

and 35 are men. In these 50 persons, 10 persons 

know hindi and 40 do not know hindi. 20 of the 

50 persons are teachers and remaining 30 are not. 

What is the probability of selecting a hindi 

knowing woman teacher ? 

12. Represent the following data by subdivided bar 

diagram. 

No. of students in 

Arts Science Commerce Total 

College A 1200 	700 	600 	2500 

College B 750 	450 	300 	1500 

13. Write the properties of F distribution. 	 6 

14. Construct Laspeyer's Quantity Index. 	 6 

1991 	 2001 

Item Quantity Price Quantity Price 
Wheat 	60 	1.00 	50 	1.25 

Rice 	25 	1.50 	20 	2.50 

Sugar 	10 	2.00 	10 	3.00 

Ghee 	3 	12.00 	4 	18.00 

Fuel 	40 	0.10 	60 	0.15 
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